Subject: Simple bug in IDL 5.4 compiler under Win2000
Posted by Joe Means on Thu, 25 Oct 2001 18:39:43 GMT

View Forum Message <> Reply to Message

This looks like a simple bug in the IDL 5.4 compiler under Windows2000.
If others confirm this, then RSI you may want to take note. Perhaps it
is fixed in 5.5 which | cannot afford yet.

PRO Showbug

numAlllRets = 6
segmentT = 2d

distancesT = segmentT*(Dindgen(numAll1Rets-2)+1d)

distancesT = segmentT*(1d+Dindgen(numAll1Rets-2))
;This second statement generates a compile error:
;%Syntax error.

Return
End
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